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QA1 . — o
Rules, duties and responsibilities of workers are given in writing in
Question ID:
Marks 1 2006
No Options Details Correct Option
1 Formal organization.
2 | Informal organization. v
3 | Business or organisation.
4 | Strategic organization.




Q.2 Which of the following statements is true with reference to principles of management?

Question ID:
Marks 1 2007
No Options Details Correct Option

1 The principles of management have evolved.

2 | The principles of management are yet to be
evolved.

3 | The principles of management are in the v
continuous process of evolution.
4 | None of the above.
Q.3 Which of the following statements best defines the techniques of management?
Question ID:
Marks 1 2008
No Options Details Correct Option
1 It is a set of guidelines to take decisions and
actions.
2 | ltis a procedure which involves a series of v
steps to be taken.
3 | They are general rules for behaviour of
individuals.
4 | None of the above.
Q4 Which of the following statements is/are true with reference to principles of management?
Question ID:
Marks 1 2009
No Options Details Correct Option

1 The principles are guidelines to action.

2 | The principles denote a cause and effect
relationship.

3 | Principles help the manager to take decisions
while performing various management
functions.

4 All of the above.




Q.5 The principles of management do not provide readymade straight jacket solutions to all management

problems because

Question ID:
Marks 1 2010
No Options Details Correct Option
1 The real business situations are complex.
2 | The real business situations are dynamic.
3 | The principles act as general guidelines.
4 | All of the above. v
Q.6 Principles of management are not:-
Question ID:
Marks 1 2011
No Options Details Correct Option
1 | Absolute v
2 | Behavioral
3 | Universal
4 | Flexible
Q.7 Henry Fayol was a
Question ID:
Marks 1 2012
No Options Details Correct Option
1 Scientist
2 | Accountant
3 | Mining Engineer v
4 | Farmer
Q.8 Which of the following is not a principle by Henry Fayol?
Question ID:
Marks 1 2013
No Options Details Correct Option

Division of work

Harmony not discord

v

Discipline
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Unity of command




Q.9

Management should find the one best way to perform a task. Which technique of management states

that:-
Question ID:
Marks 1 2014
No Options Details Correct Option
1 Time study
2 | Motion study
3 | Fatigue study
4 | Method study v
Q.10 Concentration of authority at one level is called:-
Question ID:
Marks 1 2015
No Options Details Correct Option
1 Decentralisation
2 | Delegation
3 | Accountability
4 | Centralisation v
Q.11 A career development activity that focusses on preparing people for executive positions is known as
Question ID:
Marks 1 2016
No Options Details Correct Option
1 Promotion ability Forcast
2 | Succession Planning v
3 | Directing
4 | Career Advancement Planning




Q.12 Which of the following is disadvantage of critical incident tool for performance appraisal?

Question ID:
Marks 1 2017
No Options Details Correct Option
1 Relative Ranking
2 | Time Efficacy
3 | Employee Differences
4 | Appraisal is evaluator dependent for cut-off v
choices
Q.13 A chart prepared for each position in a company to show possible replacement candidates with
qualifications is termed as ____
Question ID:
Marks 1 2018
No Options Details Correct Option
1 Competency Mapping
2 | Position replacement chart v
3 | Personnel Replacement chart
4 | Job Posting
Q.14 In a broad sense, exit policy serves as ____
Question ID:
Marks 1 2019
No Options Details Correct Option
1 Rehabilitation Plan for retiring employees
2 | Guiding Plan for fresh recruitment
3 | Employee Turnover Analysis v
4 | Guiding Plan for down sizing




Q.15 Which one of the following is not true with respect to HRM?

Question ID:
Marks 1 2020
No Options Details Correct Option
1 Money alone motivates employees v
2 | HRM is proactive in nature
3 | HRM is developmental
4 | Employee retention is possible
Q.16 Which one of the following is not an objective of training?
Question ID:
Marks 1 2021
No Options Details Correct Option
1 Manpower planning
2 | Organistion Growth
3 | Increase productivity
4 | Employee satisfaction v
Q.17 Job Evaluation criterion comes from__"?
Question ID:
Marks 1 2022
No Options Details Correct Option
1 | Job Description v
2 | Job Manual
3 | Job Specification
4 | Job Duration
Q.18 Wage determination is usually done using the following tools__
Question ID:
Marks 1 2023
No Options Details Correct Option
1 Subjective
2 | Objective
3 | Abstract
4 | Botha&b v




Q.19

Which of the following combinations are HRP benefits?
i. HRP creates balance between demand and supply of HR
ii. Management remains unforced to assess the HR policies

iii. Duplication of efforts

iv.Minimum the ROI in HR

(A) (11), (ii1) & (iv) (B) (1) & (i1)
(C) (1) & (111) (D) (2), (i1) & (i11)
Question ID:
Marks 1 2024
No Options Details Correct Option
1] A
2 B v
3 |C
4 | D
Q.20 The process of forecast, developing and controlling human resources of an organisation is called as
Question ID:
Marks 1 2025
No Options Details Correct Option
1 HR Control
2 | HR Evaluation
3 | HR Audit
4 | HR Planning v
Q.21 Which of the following is not goal of HRD?
Question ID:
Marks 1 2026
No Options Details Correct Option
1 Balancing of changes and adoptions
2 | Development of Cooperation & Collaboration
3 | Integration of HRD and OD
4 | Developing Accountability Mechanism v




Q.22 Which of the following forces acts in internally on employee behavior?

Question ID:
Marks 1 2027
No Options Details Correct Option
1 | Motivation v
2 | Laws & Regulations
3 | Co-Workers
4 | Outcomes of performance
Q.23 “Employee perceptions of the outcomes they receive influences their behvaiour”. This statement holds
good according to which theories?
Question ID:
Marks 1 2028
No Options Details Correct Option
1 Expectancy Theory
2 | Equity Theory
3 | Botha&hb v
4 | None
Q.24 Pygmalion effect refers to
Question ID:
Marks 1 2029
No Options Details Correct Option
1 Leadership
2 | Performance Expectation v
3 | Evaluation of efforts
4 | Performance Outcomes
Q.25 Following are inclusive in processes effecting behavior expectation
Question ID:
Marks 1 2030
No Options Details Correct Option
1 Evaluating efforts
2 | Energizing efforts
3 | Directing efforts
4 | Persistency of efforts v




Q.26 Which of the following is not a cognitive theory?

Question ID:
Marks 1 2031
No Options Details Correct Option
1 Expectancy Theory
2 | Equity Theory
3 | Social Learning Theory
4 | ERG Theory v
Q.27 “You won’t do it, if you don’t believe its worth the effort”. Relates to which theory?
Question ID:
Marks 1 2032
No Options Details Correct Option
1 Goal Setting Theory
2 | Behavioural Theory v
3 | Social Learning Theory
4 | Equity Theory
Q.28 “A person’s general feelings of favour or disfavor towards something” can be termed as ___
Question ID:
Marks 1 2033
No Options Details Correct Option
1 Temperament
2 | Behaviour
3 | Attitude v
4 | Motivation
Q.29 embodies a team concept, is based on the principle of mutual contribution by employer
and employees
Question ID:
Marks 1 2034
No Options Details Correct Option
1 Autocratic model
2 | Custodial model
3 | Supportive Model
4 | Collegial Model v




Q.30 Edward Tolman is related to

Question ID:
Marks 1 2035
No Options Details Correct Option
1 Behaviourist Framework
2 | Cognitive approach v
3 | Social Cognitive Framework
4 | None of these
Q.31 Hawthorne Studies is related to which stage of the organisational behaviour evolution
Question ID:
Marks 1 2036
No Options Details Correct Option
1 Industrial revolution
2 | Scientific management
3 | Organisational behaviour
4 | Human relations movement v
Q.32 Meso organisation behaviour is related with
Question ID:
Marks 1 2037
No Options Details Correct Option
1 Individual behaviour
2 | Group behaviour v
3 | Organisational behaviour
4 | None of these
Q.33 “Leadership motivates the people to work and not the power of money”, this concept is related to
Question ID:
Marks 1 2038
No Options Details Correct Option
1 Autocratic model
2 | Custodial model v
3 | Supportive Model
4 | Collegial Model




Q.34

The field of organisational behaviour examines such questions as the nature of leadership, effective

team development, and

Question ID:
Marks 1 2039
No Options Details Correct Option
1 Interpersonal conflict resolution; motivation of v
individuals
2 | Organisational control; conflict management
3 | Motivation of individuals; planning
4 | Planning; development
Q.35 The term ‘psychology’ is derived from the word ‘psyche’, which means ‘soul’ or ‘spirit’
Question ID:
Marks 1 2040
No Options Details Correct Option
1 Latin
2 | French
3 | Greek v
4 | None of these
Q.36
Which of the following represents the correct sequencing of historical developments of
Organisational Behaviour?
(A) Industrial revolution —> Scientific management —> Human relations movement —|0B
(B) Industrial revolution —> Human relations movement —> Scientific management — OB
(C) Scientific management —= Human relations movement — Industrial revolution —=|0B
(D) None of these.
Question ID:
Marks 1 2041
No Options Details

Correct Option

v
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Q.37 Which of the following frameworks is based on the expectancy, demand and incentive concepts

Question ID:
Marks 1 2042
No Options Details Correct Option
1 | The cognitive framework v
2 | The behaviouristic framework
3 | The social learning framework
4 | The supportive framework
Q.38 Which of the following forms the basis for the autocratic model of OB
Question ID:
Marks 1 2043
No Options Details Correct Option
1 Obedience
2 | Authority
3 | Power v
4 | Dependence on boss
Q.39 Which of the following trends in the employment relations in the new economic era is not correct?
Question ID:
Marks 1 2044
No Options Details Correct Option

1 Declining stability and security

2 | Declining labour intensity

3 No shift from contract of service to contract of
service

v

4 | Declining mutual commitment




Q.40

A Trade Union means “An association of workers in one or more professions carried on mainly for the

purpose of protecting and advancing the members’ economic interest in connection with their daily

work”. ldentify the author:

Question ID:
Marks 1 2045
No Options Details Correct Option
1 | Sidney and Beatrice Webb v
2 | J. Cunnison
3 | G.D.H. Cole
4 | Clyde E. Dankert
Q.41 Inter and intra-union rivalry in Trade Unions is reduced by
Question ID:
Marks 1 2046
No Options Details Correct Option
1 The provisions of the Industrial Disputes Act
1947
2 | By voluntary tripartite code of inter-union v
rivalry - 1957
3 | By bipartite mutual agreement at the industry
level
4 | Above all
Q.42 According to whom ‘Conflict is necessary but it can be and needs to be managed and resolved’.
Question ID:
Marks 1 2047
No Options Details Correct Option
1 | Unitarists v
2 | Pluralists
3 | Classicalists
4 | Modernists




Q.43

By which amendment the provisions of Workers’ Participation in Management was incorporated in the
Indian Constitution?

Question ID:
Marks 1 2048
No Options Details Correct Option
1| 41
2 | 42 v
3 | 43
4 | 44
Q.44 __have a protecting role of safe guarding workers’ interests.
Question ID:
Marks 1 2049
No Options Details Correct Option
1 | Trade Unions v
2 | Management
3 | International Agencies
4 | Society
Q.45 Which one of the following is not a machinery for settlement of Industrial Disputes under the Industrial
Disputes Act, 19477
Question ID:
Marks 1 2050
No Options Details Correct Option
1 Conciliation Officer
2 | Board of Conciliation
3 | Collective Bargaining v
4 | Labour Court




Q.46

‘First come last go and last come first go’ is the principle of

Question ID:
Marks 1 2051
No Options Details Correct Option
1 Lay-off
2 | Closure
3 | Retrenchment v
4 | Dismissal
Q.47 ‘Award’ under Industrial Disputes Act, 1947 is
Question ID:
Marks 1 2052
No Options Details Correct Option
1 Not interim determination of labour court
2 | Not arbitration award under Section 10A
3 | Not final determination of labour court
4 | None of the above v
Q.48 The ongoing globalization in India requires drastic changes under which of the labour legislations?
Question ID:
Marks 1 2053
No Options Details Correct Option
1 The Factories Act
2 | The Employees’ State Insurance Act
3 | The Industrial Disputes Act v
4 | The Employees’ Provident Funds Act




Q.49

Which of the following statements about Economic Reforms in India is not true?

Question ID:
Marks 1 2054
No Options Details Correct Option
1 Economic reforms were initiated in July 1991
2 | The balance of payment crisis led to the
hurried introduction of Economic reforms
3 | LPG were the three components of Economic
reforms
4 | It had leastimpact on the human resources v
management
Q.50 Which one of the following is not a principle of labour legislation?
Question ID:
Marks 1 2055
No Options Details Correct Option
1 Principle of Protection
2 | Principle of Social Justice
3 | Principle of Social Security and Welfare v
4 | Principle of Reasonable Standard of Living
Q.51 Which part of the Indian Constitution divides jurisdiction for enactment of Labour Legislations?
Question ID:
Marks 1 2056
No Options Details Correct Option

Distribution of Legislative Power

v

Directive Principles of State Policy

Fundamental Rights

Bl W N =

None of the above




Conventions of I.L.O?

Bonded Labour System (Abolition) Act is the result of the ratification by India of which of the following

Question ID:
Marks 1 2057
No Options Details Correct Option
1 Unemployment Convention, 1919
2 Forced Labour Convention, 1930 v
3 | Weekly Rest (Industry Convention) 1921
4 | Right of Association (Agriculture) Convention,
1921
Q.53 Which of the following has adopted the principle of fair wages in India?
Question ID:
Marks 1 2058
No Options Details Correct Option
1 | The Minimum Wages Act v
2 | The Equal Remuneration Act
3 | The Wage Boards
4 | None of the above
Q.54 Which of the following is not a type of unemployment?
Question ID:
Marks 1 2059
No Options Details Correct Option
1 Frictional Unemployment
2 | Technological Unemployment
3 | Disguised Unemployment
4 | Migratory Unemployment v




Q.55

Which of the following statements about welfare officer is not correct?

Question ID:
Marks 1 2060
No Options Details Correct Option
1 Welfare Officer is statutory.
2 | The Qualifications and duties of Welfare
Officer are prescribed.
3 | ‘Welfare Officer is a ‘Third Force’.
4 | Welfare Officer has to represent the v
employer in cases of industrial dispute.
Q.56 Social security provided by a ‘means test’ is called:
Question ID:
Marks 1 2061
No Options Details Correct Option
1 Social Insurance
2 | Mutual Insurance
3 | Social Assurance
4 | Social Assistance v
Q.57
In which of the following approaches ‘goodwill’ is considered as an important goal of labour welfare
work?
Question ID:
Marks 1 2062
No Options Details Correct Option
1 Placating Theory
2 | Public Relations Theory v
3 | Fundamental Theory
4 | Philanthropic Theory




Q.58

The subset population of the total labour force population is classified as

Question ID:
Marks 1 2063
No Options Details Correct Option
1 Applicant pool
2 | Labour Market
3 | Labour Force Population
4 | Applicant Population v
Q.59 The government imposes a tax t on workers for each unit of labor L. The tax
Question ID:
Marks 1 2064
No Options Details Correct Option
1 increases the demand for labor
2 | decreases the demand for labor
3 | increases the supply of labor
4 | decreases the supply of labor v

Q.60 Which of the following features causes the labor surplus of a binding minimum wage to exceed the
disemployment effect of the minimum wage?
Question ID:

Marks 1 2065
No Options Details Correct Option
1 downward-sloping labor demand

2 | a monopsony employer

3 | upward-sloping labor supply v

4 | inelastic supply of labor




Q.61

Choose the correct alternative that will continue the same pattern and fill in the

blank space.

3,12, 27, 48, 75, 108

(A) 147 (B) 16
(C) 183 (D) 192
Question ID:
Marks 1 2066
No Options Details Correct Option
1] A v
2 | B
3 |C
4 | D
Q.62
Choose the correct alternative that will continue the same pattern and fill in the
blank space.
5.6,7.8,10,11, 14
(A) 16 (B) 15
(C) 18 D 17
Question ID:
Marks 1 2067
No Options Details Correct Option
1] A
2 B
3 |C
4 | D
5 | Errorin question / Answer options. Grace v
marks will be awarded.




Q.63

Choose the correct alternative that will continue the same pattern and fill in the
blank space.

11,12, 17, 18, 23, 24

(4) 29 (B) 15
(C) 18 D 17
Question ID:
Marks 1 2068
No Options Details Correct Option
1A v
2 | B
3]C
4 | D
Q.64
Choose the correct alternative that will continue the same pattern and fill in the
blank space.
1,4,2,8,8,86, 24, 22, B8
(A) 80 (B) 86
(C) 154 (D) 352
Question ID:
Marks 1 2069
No Options Details Correct Option
1A
2 | B v
3]C
4 | D
Q.65 Proteins: Growth:: Carbohydrates: ?
Question ID:
Marks 1 2070
No Options Details Correct Option
1 Energy v
2 | Strength
3 | Resistance
4 | Disease




Q.66

Painting : Artist :: Symphony : ?

Question ID:
Marks 1 2071
No Options Details Correct Option
1 Novelist
2 | Poet
3 | Essayist
4 | Composer v
Q.67
Dum Dum : Calcutta :: Palam : ?
Question ID:
Marks 1 2072
No Options Details Correct Option
1 Kerala
2 | Delhi v
3 | Madras
4 | Bombay
Q.68 Doctor is related to patient in the same way lawyer is related to
Question ID:
Marks 1 2073
No Options Details Correct Option
1 Customer
2 | Acc
3 | Magistrate
4 | Client v




Q.69

Choose the word which is least like the other words in the group :

(4) dJumping (B) Exercising
(C) BSpnnting (D) dJogging
Question ID:
Marks 1 2074
No Options Details Correct Option
1] A
2 | B v
3 |C
4 | D
Q.70
Choose the word which is least like the other words in the group :
(A) Month (B) Year
(C) Fortnight (D) Season
Question ID:
Marks 1 2075
No Options Details Correct Option
1] A
2 B
3 |C
4 | D v
Q.71
Choose the word which is least like the other words in the group:
Question ID:
Marks 1 2076
No Options Details Correct Option
1 Mother
2 | Friend v
3 | Sister
4 | Father




Q.72

Choose the word which is least like the other words in the group :

(A) Baghdad (B) Beijing
(C) Delhi (D) Pakistan
Question ID:
Marks 1 2077
No Options Details Correct Option
1A
2 | B
3]C
4 | D v
Q.73
Choose missing letter out of the given letters :
AZ.CX, FU?
(A) IR (B) IV
(C) Jq (D) EKP
Question ID:
Marks 1 2078
No Options Details Correct Option
1A
2 | B
3]C v
4 | D
Q.74
Choose missing letter out of the given letters :
CE, GI, KM, 04Q.,?
(A4) TW (B) TV
(C) 8SU (D) RT
Question ID:
Marks 1 2079
No Options Details Correct Option

v

Bl w| | =
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Q.75

Choose missing letter out of the given letters :

BF, CH?HO, LT

(A) DN (B) EL
(C) EK (D) EM
Question ID:
Marks 1 2080
No Options Details Correct Option
1] A
2 | B
3 |C v
4 | D
Q.76
An example of a non-verbal test of intelligence is
Question ID:
Marks 1 2081
No Options Details Correct Option
1 Raven’s Progressive matrices
2 | Wechesler scales
3 | Stanford -Print test
4 | Army Alpha test
5 | Errorin question / Answer options. Grace v
marks will be awarded.
Q.77
According to Goleman how many components of emotional intelligence are there?
Question ID:
Marks 1 2082
No Options Details Correct Option

v
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Q.78 Delusion is

Question ID:
Marks 1 2083
No Options Details Correct Option
1 Fixed False belief
2 | Hearing of Voice
3 | False Perception v
4 | Shared by others
Q.79 Who invented “Allo static load” Concept
Question ID:
Marks 1 2084
No Options Details Correct Option
1 Seyle’s
2 | Me Ewan
3 | Sanrez
4 | Goleman
5 | Errorin question / Answer options. Grace v
marks will be awarded.
Q.80 Psychonero immunology (PNI)
Question ID:
Marks 1 2085
No Options Details Correct Option
1 Motivation
2 | Intelligence
3 | Stress v
4 | Psychosis




Q.81 National Institute of Rural Development is located in

Question ID:
Marks 1 2086
No Options Details Correct Option
1 Shimla
2 | Hyderabad v
3 | Patna
4 | New Delhi
Q.82 As per Brexit Agreement 2020, which country got separated from European Union
Question ID:
Marks 1 2087
No Options Details Correct Option
1 | Britain v
2 | Spain
3 | ltaly
4 | Belgium
Q.83
World Ozone Day is celebrated on
Question ID:
Marks 1 2088
No Options Details Correct Option
1 | September 16 v
2 | October 14
3 | November 15
4 | December 12




Q.84
Engineer’s Day is celebrated on

Question ID:
Marks 1 2089
No Options Details Correct Option
1 June 14
2 | July 20
3 | August 21
4 | September 15 v
Q.85 Simon Remo Award was given to
Question ID:
Marks 1 2090
No Options Details Correct Option
1 Dr K. Radha Krishna
2 | DrK. Sivan v
3 | Dr K. Vidyamath
4 | Dr M. Aravind
Q.86 “The Ramayana” was written by
Question ID:
Marks 1 2091
No Options Details Correct Option
1 Viswanadha Sathyanarayana
2 | Valmiki v
3 | Ravuri Bharadwaja
4 | Ramalakshmi
Q.87 Shikha Tandon was related to which sport
Question ID:
Marks 1 2092
No Options Details Correct Option
1 Chess
2 | Archery
3 | Shooting
4 | Swimming v




Q.88

National Vaccination Day is celebrated on

Question ID:
Marks 1 2093
No Options Details Correct Option
1 | March 9 v
2 | March 12
3 | March 14
4 | March 16
Q.89
Expansion of IPC is
Question ID:
Marks 1 2094
No Options Details Correct Option
1 International Postal Code
2 Indian Penal Code
3 | Indian Postal Code v
4 International Penal Code
Q.90 The longest highway tunnel was launched between
Question ID:
Marks 1 2095
No Options Details Correct Option
1 Bihar to Sikkim
2 | Assam to Goa
3 | Himachal Pradesh to Laddakh v
4 | Delhito Madhya Pradesh




Q.91

Given below a word in capital letters is followed by four words or groups of words.
Select the word or groups of words that is most similar in meaning to the word in

capital letters.

HUMDRUM
(4) Drab (B) Harmony
{(C) Fabulous (D) Humming
Question ID:
Marks 1 2096
No Options Details Correct Option
1A v
2| B
3 |C
4 | D
Q.92
Given below a word in capital letters is followed by four words or phrases as
[A]. [B]. [C] and [D]. Select the word or phrase which i1s nearly opposite to the
meaning of the original word and mark the correct response as [A], [B], [C] or [D]
as the case may be.
NOVICE
{A) Beginner (B) Learner
(C) Expert (D) Student
Question ID:
Marks 1 2097
No Options Details Correct Option
1A
2| B
3 |C v
4 | D




Q.93

In the given below sentence the parts have been jumbled. These parts have been
labelled P, @, R and 3. You are required to re-arrange the jumbled parts of the

sentence and mark your response accordingly.

whom I would / the celebrity / most like to meet/Mujkund Bhargav is

P Q R 3
(A) SPRQ (B) SPQR
(C) SQPR (D) QPRS
Question ID:

Marks 1 2098
No Options Details Correct Option
1A
2 | B
3]C v
4 | D
Q.94

Complete the given sentence by choosing the most appropriate word/s from the

given alternatives.

The union leaders ————— the workers to go on strike.

(4) distracted (B) incited

(C) abetted (D) promoted

Question ID:

Marks 1 2099
No Options Details Correct Option
1A
2 | B v
3]C
4 | D




Q.95

Find out the correct meaning of the idiom / phrase underlined from the options

given below.

Yes, he got the news from the horse's mouth

(4) a reliable source (B) a gossiper
(C) alover of horses (D) the zookeeper
Question ID:
Marks 1 2100
No Options Details Correct Option
1] A v
2 | B
3 |C
4 | D
Q.96 Given are parts of the sentence. One of the parts may have a mistake. Spot the error part.
Question ID:
Marks 1 2101
No Options Details Correct Option
1 The number of students
2 | Passing the exams
3 | Areincreasing every year v
4 | Inour college
Q.97
Improve the given sentence finding the mistake(s) if any.
Passengers are prohibited to smoke in the train.
(A) for smoking (B) from smoking
(C) by smoking (D) at smoking
Question ID:
Marks 1 2102
No Options Details Correct Option
1] A
2 B v
3 |C
4 | D




Q.98

Choose appropriate word to fill in the blank in the below given =entence.

If she ——————— the answer, she would have written it.
(4A) had known (B} knew
(C) knows {D}) would have known
Question ID:
Marks 1 2103
No Options Details Correct Option
1A v
2| B
3 |C
4 | D
Q.99 .
Read the following passage and answer the question that follows it
Scientists studied ecological systems while others formed clubs and initiated
protests. These concerned people became known as conservationists, a
predecessor to the modern environmentalist. Some of the earliest protests against
pollution and for the conservation of natural resources and wildlife happened in
the late nineteenth century.
Who are called environmentalists?
(A) =scientists
(B) predecessors of modern scientists
(C) mnature lovers
(D) conservationists
Question ID:
Marks 1 2104
No Options Details Correct Option
1A
2| B
3 |C
4 | D v




Q.100

Marks

Read the following passage and answer the question that follows it

Scientists studied ecological systems while others formed clubs and initiated
protests. These concerned people became known as conservationists, a
predecessor to the modern environmentalist. Some of the earliest protests against
pollution and for the conservation of natural resources and wildlife happened in
the late nineteenth century.

Which of the following was not a concern of the late nineteenth century protests?
(A) increasing pollution

(B) growing population

(C) conserving of natural resources

(D) protecting wildlife

Question ID:
2105

No

Options Details

Correct Option

v
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